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a) (x-+Xttx-3) +3=e

.) (ttx-3f - (f2<+\)a= 69

a) ?x(x-3) = -2(x3"s)

3) (x+sf+ ("*tl= (x+s)z

obotn R r?S{<- rovr ^ce I

xzt {,Sx - tt,S = O

*  t0 r9x  -0136=-o

xz*Yx =o
-*- ax t g4=o
* t  t x  -63  =O

- * - tox  + 456=o
g;z+Sx + 4:o

b3+8x +,tS=O

*+ r,r* -4o,1=O
- S *  + 9 : o

ietlt rovnitc '

4  = 4
1x+4

- x+5- 6

b) xL 6x+S=o
€l) 1xz- 5x-3 =o

5)  xL+Xt '1  =o

A\ 3xz + 2!x -7o -- o

t') *-2'l1x + 1=o
/ . )  4*+5*=o
^\ $xL- tfx-4= O

P 3*-5x = o
/!) xr-4,sgx +\E6:o

,r^) Sf -a8x -8 =O

s) (ax-a)(4+x)= x(4+x)
cr) (x,-3)a+(x-$)a = (x-2.)L

5) (x,+sXx-z) = (3x+2)(9r-3)

!-\ (ex+a)Cx-g) + (2x-a)(x+r) = rrx-4
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